OZCO Project #120 - BBQ Arbor Cover

5 S
= > = S

design 3

design 1 design 2

Ornamental
Wood Ties

OCZLCO BUILDING PRODUCTS IR [

. V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zZCO PI’Oject #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 1




CONSTRUCT
OZCO Project #120 - BBQ Arbor Cover

Ornamental
Wood Ties

OZCO BUILDING PRODUCTS I

. V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zZCO PI’OjECt #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 2




OZCO Project #120 - BBQ Arbor Cover

CONSTRUCT

design 2

Ornamental
Wood Ties

OCZLCO BUILDING PRODUCTS IR [

. V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zZCO PI’OjECt #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 3




CONSTRUCT

DESIGN

OZCO Project #120 - BBQ Arbor Cover

design 3

Ornamental
Wood Ties

OCZLCO BUILDING PRODUCTS IR [

. V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zZCO PI’Oject #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 4




One Page Process #: 4002

Printing Documents

H from ISSUU

Unfortunately, there is currently no way to print content directly
through issuu. To print a publication, you will need to download
it and print it from your computer.

One of Two Access Points for ISSUU
WEBSITE DIRECT

( You MUST create an account with Issuu or log in with Facebook or Google+ )

) Y

( Below the publication is an icon I»I click it J ( Below the publication is a word “Share” click it)

Y v

N
( Select the “Download” Option & Save the File to an easily accessed location. ﬁ

v

( “Open” the downloaded file, View and/or Print as you want. )

b=




Ornamental
Wood Ties

Overview-Design 1

H V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zCo PI’OjECt #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 6




(s \

° '\l Firs OZCO BUILDING PRODUCTS IR [

/—% X 45°

3 \1“ X 45°
1, .1

105" 105" -

Overview-Design 2

H V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zCo PI’O]eCt #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 7




Ornamental
Wood Ties

R

o o o o A
N S T A A

TLITIT TT TT TT TT TT TT T TT TT TT TT TT TT TT TT TITET
T TT 1T T 1T 1T TT 1T TT 1T 1T 1T 1T TT TT 1T TTTT10T
TTTTIT IT TT T7 TT TT T TT TT TT TT IT T TT TT TT TII7TT
TOTIT TT TT T7 TT TT 1T TT TT TT 1T T TT TT TT TT TITHT

T 0000000000000 00 000

10'0"

I

1" X 45°
2" X 45°—

1'11"

3.58 — 28.55

Overview-Design 3

H V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zCo PrOJECt #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 8




'

OW [ocaren OZCO BUILDING PRODUCTS IR [

Bill of Material-Design 1

H _ V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zCo PrOJECt #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 9




.| ; Ornamental
Wood Ties
[TEM NO QIY PART NUMBER DESCRIPTION
1 2 2x8 Cedar Board 2x8x10'0"
2 9 2x2 Cedar Board 2x2x10'0"
3 2 6x6 Cedar Post 6x6x3'0"
4 2 6x6 Cedar Post 6x6x1'0"
5 2 6x6 Cedar Post 6x6x8'0"
6 2 6x6 Cedar Post 6x6x2'4"
7 2 6x6 Cedar Post 6x6x4'0"
8 2 6x6 Cedar Post gxgxg'@'t AnShor K
X6 Post Anchor Ki
9 2 56633 (6xB-OPAK-LS)
10 8 56614 Flush Qutside 50
16 56611 [rsliss Accent (TA-
Screw, OWT 1-3/4"
0.08 56625 (45mm) Timber
Screw, OWT 3-3/4"
11 1 56627 (95mm) Timber
R e
ex Cap
1 56621 Nut (HCN)
12 1 56615 Flush Inside 90
2 56611 [rsliss Accent (TA-
Screw, OWT 1-3/4"
0.08 6625 (45mm) Timber
4 56611 [rsliss Accent (TA-
Screw, OWT 1-3/4"
0.08 56625 1(‘45m|5n) Tirlr:mberB
russ Base Fan
14 4 o6646 Point (TBE-3-PT)
Screw, OWT 1-3/4"
0.08 ©6625 (45mm) Timber
15 10 2x2 Cedar Board 2x2x7'6"

Bill of Material-Design 1

OZCO Project #120 - BBQ Arbor Cover

OZCO BUILDING PRODUCTS Il IR

PART
QTY NUMBER
2 2x8x10L
19 2x2x10L
1 6X6x6L
5 6x6x8L
2 56633
8 56614
28 56611
5 56625
1 56627
1 56621
1 56615
2 56616
4 56646

Material List
DESCRIPTION
2x8x10
2x2x10
6X6X6
6x6X8

6x6 Post Anchor Kit (6x6-OPAK-LS)
Flush Outside 90° (FO-90)

Truss Accent (TA-LS)

OWT Timber Screw 1-3/4"

Screw, OWT 3-3/4" (95mm) Timber
with HCN

1 1/2" Hex Cap Nut (HCN)

Flush Inside 90

Flush Inside 45 (FI-45)

Truss Base Fan 3 Point (TBF-3-PT)

V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/12/2018 . This information is updated periodically 10
and should not be relied upon after 2 years from 3/12/2018 . Please visit OZCOBP.com to get current information.



OW [oosree & 55 ] RS OZC O BUILDING PRODUCTS Il I

- = %
56611 B = - o

BUILDING PRODUCTS I I

f V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zZCOo PI’OjECt #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 11



'

OW [ocaren OZCO BUILDING PRODUCTS IR [

DESCRIPTION

4x4x8'0"

2X6x6'0"

2x4x8'0"

4x4 Post
Anchor Kit
(4x4-OPAK-LS)

4” Post to
Beam (P2B-LS-
4)

2" Standard
Rafter Clip
(RC-LS-2)

Bill of Material-Design 2

H _ V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zCo PrOJECt #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 12




OZC O BUILDING PRODUCTS IR

Olco Design 2

BUILDING PRODUCTS I I

f V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zZCOo PI’OjECt #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 13



Ornamental
Wood Ties

DESCRIPTION
4x4x8'0"
2x6x10'0"
2x4x2'0"
2x4x4'0"
2x2x10'0"
2x2x2'0"

2X2x6'0"

4x4 Post Base
with Rall

Saddle (4X4-
TRS-LS)

2x4 Top Raill
Saddle (2x4-
TR)

OWT Timber
Bolt 6-8"

2" Standard
Rafter Clip
(RC-LS-2)

Bill of Material-Design 3

H _ V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zCo PrOJECt #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 14




OW oz OZC O BUILDING PRODUCTS Il I

} uumuuu@
(

Olco Design 3

BUILDING PRODUCTS I I

f V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zZCOo PI’OjECt #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 15



° '\l Firs OZCO BUILDING PRODUCTS IR [

Translucent-Design 1

i - V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zCo Prolect #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 16



° '\l Firs OZCO BUILDING PRODUCTS IR [

Translucent-Design 2

H - V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zCo Prolect #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 17



° '\l Firs OZCO BUILDING PRODUCTS IR [

Translucent-Design 3

i - V2.00 - Installation Instructions, Specifications and Project Plans are effective 3/9/2018 . This information is updated periodically
0zCo Prolect #120-B BQ Arbor Cover and should not be relied upon after 2 years from 3/9/2018 . Please visit OZCOBP.com to get current information. 18



